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1. For the circuit shown in the figure below, find the voltage vs across the current source.
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2. For the circuit shown in the figure below,

(a) Find the current across the 1Ω resistor: iR1Ω
=

(b) Find the current across the 3Ω resistor: iR3Ω
=

(c) Find is. is =

(d) Find vs. vs =

(e) Find the resistance Req = vs/is seen by the voltage source. Req =
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3. For the circuit shown in the figure below,

(a) Write Mesh current equations (i1 and i2).

(b) Write Node voltage equations (V1, V2 and V3).

++
i1

i2

V
1 V2

V
3

.

.
Ω 1 Ω2

5 V 4 V

3 Ω

2 A

.

.

3


